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Find the discriminant D and the solution using the formula
for solving a quadratic equation.

b+yb?> s4ac

2a
D D 0
32 5x 1 0
D 5 4x3x1 13
" 5 +1/13 5 +1/13
2 x3 6
2x2 5Xx 1 O
42 4x 1 0
D ( 4)* 4x4x1 0
y (4)xVvo 4 1
2 x4 8 2
9x2 6X 1 0
X2 2Xx 3 0
D ( 2)2 4x1x3 8
« (2)xV 8 2 £V 8 i
2 x1 2
2 +2v2 i L eV i
2
X2 4X 5 0

2 Determine the solution to the following quadratic equation.
X2 2x 1 0
D 22 4x1x( 1) 8
D O 2
It has two distinct real roots.
2 5x 2 0
x> 6Xx 9 0
D 6 4x1x9 0
0 ,
It has double root.
2x2 4x 2 0

2x2  x 3 0

D 1° 4x2x3 23
D 0 ) 2
It has two distinct complex roots.
2x2 5x 2 0
2 2
k
Find the range of values of the constant k such that the following
guadratic equation has two different imaginary solutions.
X2 4x k 0
X2 4x k 0
D ( 4)> 4x1xk 16 4k
2 D 0
16 4 Kk 0
k 4
x> 66X k 0
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b+yYb*> 4ac
2
ax’> bx c o X >a
D D 0
32 7x 1 0
D 7° 4x3x1 37
y 7 41/ 37 7 137
2 %3 6
2x2 7x 1 0
25x¢2 10X 1 O
D ( 10)?) 4x25x1 0
. ( 10)=Vvo0 10 1
2 x 25 50 5
16x2 8x 1 0
X2 4X 6 0
D ( 4)° 4x1x6 8
« (4)=V 8 4+V8 i
2x1 2
122V2 1 5.y

2
2x2 3x 1 0
D 3 4x2x1 1
D 0 2
3xX2 4x 1 O
9x2 6X 1 O
D 6 4x9x1 0
D 0 ,
2x2 8X 8 0
3% 2x 1 O
D 22 4x3x1 8
D 0 , 2
2¥2 3X 4 0
2 2
Kk
X2 2X k 0
2 X2 2Xx k O
D ( 2) axix( k 4 4k
2 D
4 4k 0
Kk 4
X2 8X k 0
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2
ax’> bx c o X >a
D D 0
32 6X 1 0
D 6 4x3x1 24
y 6 +1 24 34+V6
2 %3 3
42 66X 1 0
42 12x 9 0
D ( 12)° 4x4x9 0
y ( 12)x=Vvo0 12
2 x4 8
9x2 12X 4 O
X2 2X 5 0
D ( 2)° 4x1x5 16
« (( 2)x=V 16 2=+4i
2x1 2
121

2
2x2 3x 1 0
D 3 4x2x( 1) 17
D 0 2
2x2 4Xx 3 0
3% 6X 3 0
D 6 4x3x3 0
D 0 ,
4% 12X 9 0
2¥2 2X 3 0
D 2° 4x2x3 20
D 0 , 2
2X2 5x 4 0
2 2
Kk
X2 66X k
2 X2 6X k 0
D 6% 4x1xk 36 4Kk
2 D
36 4k
kK 9
2X2 4x Kk O




